b F SR T RF Y oS4

FEEZg B3 (2345 FA kD)

I ESRTA |

—. FEHE
1 J5KAE
EHH B E B %8
ErEPH TR 46,500 _CMD 1.00
FERAH TS 65,100 CMD 1.40
EERAM TR 86,000 _CMD 1.85
2 J5KAE
KETEH BT AKE B E IR E
BOD 5 180 mglL 20  mgll
SS 180  mg/L 20 mg/L
3 BREEETTLEE
B P BT BODs SS
SRR 0% 0%
LN aitA 30% 53%
—RAEYRE(ERER I0 87% 84%
{adlolic 20% 60%
1 PBRIEEYIE
THH DI thE
WhRE B (i B 1.500
G VR 2 5 e A 150% = 002 1.010
/T D) = 1.00% = 0010 1.005
SR TR 300% = 003 0.950
ENER TR R 500% = 0.05 1.020
BioKi% 2 TS e 2000% = 020 1.070
5 [EEKE
SE b 10 mYd
WL UBA T 10 mAd
B SR 150  md
T RUEAEE 10 mAd
S5 s G AT ) 326 mid
VSRR K CE M IEAR ) 562 m/d
HAth AU F/K & 3582 m’Ad
=1 4650  mPid
6 BXKE
5 e (W EEPolymer ) 33 m/d
75 el K (FiFEPolymer FH) 54 m¥d
oAt 30 m'd
=1 117 A
7 HersoE EEsEE T BTSN
. EE
(—) DA
1 #EREMKE
(1) E357KBODs = 860000 x 180 /1000 = 15480.00 ke/d
JE57KS S = 860000 x 180 /1000 = 15480.00 ke/d
) fEselalug A KE
BODs B = 150 mglL
SS EBE = 150 mg/L
$1F #13F

b3 g (2 4 Qpeak)



(3) JERHK

EHEHKE = 100 mA
BOD;s JEE = 150 mg/L
SS EE = 150  mg/L
BOD; 445 = 10 x 150 / 1000 = 015 ked
SS 4ug = 10 x 150 / 1000 = 015 ked
@) R EHEK KA KB K E
TR BODs SS
(CMD) (kg/day) (ke/day)
B Al TR 90.0 15.00 45.00
STIE R K 1800.0 450.00 2100.00
SRR K HEHEK 950.0 180.00 1400.00
&xt 2840.0 645.00 3545.00
(5) |l AR bt > i & = 860000 + 100  + 28400 = 88850.0 md
BOD; 4 & = 154800 + 015 + 6450 = 16125.15 ked
SS g = 154800 + 015 + 35450 = 19025.15 ke/d
BODsE[E = 1612515 x 1000  / 888500 = 1815 mg/L
S S = 19025.15 x 1000/ 88850.0 = 2141 mg/L
2 BE
BT R Ry
BOD:s = 0% = 000
SS = 0% = 000
22~ BODs = 1612515 x 0 = 000 ked
£ SS = 19025.15 x 0 = 000  ked
IR K & = 88850.0 0.5 = 88849.5 m3/d
SRR K >~ BODs = 16125.15 000 = 16125.15 kel
I K S S = 19025.15 - 000 = 19025.15 ked
BODsEE = 16125.15 1000/ 888495 = 1815 mglL
SS = 19025.15 1000/ 888495 = 2141 mglL
OB VAGER " 3= = 001  m¥1000m’
WOREER fir = 1500 kg/m’
BORERE T = 465000 x 001 /1000 = 05 mA
WhHEE = 05 x 1500 = 69750 ked
(=) g
1 #ERENKE
VRG22 R & = 888495 m/d
BODjs = 16125.15 ke/d
SS = 19025.15 ke/d
2 FE
(1) BT S By
BODs = 30% = 030
SS = 5% = 053
2 BODs = 1612515 x 030 = 4837.55 ked
EBR>Z SS = 1902515 x 053 = 1008333 kg/d
O] EUEIbvE = = 10083.33 ke/d
EIDIRED e = 1008333 /(001 x 101 x 1000 )= 10033 md
$2F £13F &3 R T (2 9 Qpeak)
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ST R = 3% = 003
FEEE = 0950
IR N Y = 8 ke/1000m® =  0.008  ke/m’
JElIpERER = 0008 x 888495 = 71080 keg/day
AR = 7108 /003 x 095 x 1000 )= 249 m3Md
WU EH: 2 B 7K & = 10 m¥d
BOD; & = 150 mgL
SS BE = 150 mglL
BOD;s 445 = 10 x 15 /1000 = 015 ked
SS 48 = 10 x 15 /1000 = 0.5 ked
TR = 100 + 249 = 349 m3d
B S S = 71080 + 015 = 71095 ked
SEEBODS = 000 + 015 = 0I5 ked
IR > KR KR & = 88849.5 - 10033 249 = 878213 md
W1 UG > H7 7K BODs = 16125.15 483755 = 11287.61 ke/d
I UE > 17K S S = 19025.15 1008333 = 8941.82 kg/d
YR IUR > R KBODs R = 11287.61 x 1000/ 878213 = 1285 mg/L
YEEIUR > HORKS S = 8941.82 x 1000/ 878213 = 1018 mg/L
(&) ZHRAEVRHE(EBER LD
R E K&
SRR = 15 md
BOD; J&fE = 150 mgL
SS EE = 150 mgl
BODs 44 & = 150 x 150 /1000 = 225 ked
SS 4ug = 150 x 150 /1000 = 225 ked
(2) R E R YR KEKE
ME BODs SS
(CMD) (kg/day) (kg/day)
S R K 35.0 0.03 50.00
= 35.0 0.03 50.00
WO A R AR R = 878213 + 1500 + 350 = 880063 m3/d
BODs = 1128761 + 225 + 003 = 11289.89 ke
SS = 894182 + 225 + 5000 = 8994.07 ke
BODs [ = 11289.80 x 1000 / 880063 = 1283 mg/lL
S S s = 899407 x 1000 / 880063 = 1022 mg/lL
EE
AR YR BRR R
BODs = 8% = 087
SS = 84% = 084
2B~ BODs = 1128989 x 087 = 982220 kg/d
EBHZ S S = 899407 x 084 = 755502 kg/d
EESEEMEA:
MLVSS/MLSS{48 = 080
BODs/BOD, {4 = 0.68
VSSTEAEHE = 142

&3 R T (2 8 Qpeak)
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S-BOD/T-BOD = 65%

A RABEY, = 0650 g-VSS/g-BOD

NEE A Ek, = 0050 day’

%E*U% %:(Ks = 90.000 g/m3

BALLAERRY = 2000 day’

TOUTIEARE = 8,000.0

S-BOD/T-BOD= = 0650

0. = 6.000

#7KBODs)RE = 1283 mg/l({RE B FHEEE)

#E7KS-BODs & = 834  mg/l

H7R7KS-BODs e =Kx(1+ksx® Jup,x8 -1 +ksx8 )

= 109 mgl

Hifi7/KBODs & = 168  mgl

tbA:fep =10 . +ky = 0217

SRR, =Y /(1+ k;x0 ) = 0.500

JEE 25,5 EMLVSS(P,) = YpxQx(S-S.) = 318806 kg/day

JEEZE 5 EMLSS = 3985.07 ke/day

FEZESS = 7555.02 kg/day

&5 = 398507 + 7555.02 = 11540.09 kg/day

ASER & = 1154009 /001 x 1.005 x 1000 )= 11483 m3/Md
B) FEEE = 3% = 003

FEEE = 095

FRtoE Bin =1 = 2 ke/1000m’ =  0.002  kg/m’

Al s = 0002 x 880063 = 17601 kg/day

AR = 17601 /003 095 x 1000 )= 62 m3d

ZIUEBEFZ UK E = 100 m3d

BOD;s & = 150 mglL

SSEE = 150 mglL

BOD; 44 & = 10 x 15 /1000 = 015 ked

SS 4 = 10 x 15 /1000 = 015 ke/d

PR <A = 100 + 62 = 162 m3d

S S S = 17601 + 015 176.16  ke/d

J%8BODS = 000 + 015 = 015 ked

A R B = VIUEE + U

= 349 + 162 S B

BB R TEZS S 71095 + 17616 = 887.11 ke/d

EFAEMEM B 2BODS = 015+ 015 = 030 ked

BRIy = A EES = 9% = 090

SR EAEEBODS R = 9% = 090

SRR 887.11 x 090 = 79840 ke/d

R % 2 AR = 20% = 020

FEEHEE = 1

Hifig = 79840 /[ 02 X 1 x 1000 )= 40 md

BRI S R AL = 511 40 = 471 m3Ad

BRI A 65 BODs = 030 x 09 = 027 ked

PR B YRS S = 88711 - 79840 = 8771 kegd

37 A A AR B 2 BODs = 030 - 027 = 003 ked

THRAEYEBEYOK R E = 880063 - 11483 6.2 = 868518 m'd

AR AR /K BODs = 11289.89 - 982220 = 1467.69 kg/d

THRAEYIERE LK S S = 899407 - - 755502 = 1439.05 ke/d

THRAEYIEETK Y BODSEE = 146769 x 1000/ 868518 = 169  mg/L

¥4F =137 A3 3§ T R 3 3 Qpeak)
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| —gpa gk S SR = 143905 x 1000/ 868518 = 166 mg/L |
(VO) RIERE (BB A K A
1 ERERKE
(1) PUBEME R KKE = 46500 CMD
ik 7 7K BODs = 4650 x 1690 /1000 = 7858 ked
PUEREERK S S = 4650 x 1657 /1000 = 7705 ked
Q) B&FHKE = 2% X R E
HIRZ kK& = 4650 x 2% = 9300 CMD
BODSEfE = 15 mg/L
S SEE = 15 mg/L
357K BODs 44 & = 9300 x 15 /1000 = 140  ke/d
RHKS S 48 = 9300 x 15 /1000 = 140 ke/d
2 EE
(1) BOEEE T KRRy -
BOD:s = 2% = 020
SS = 60% = 060
k22 BODs = 7858 x 020 = 1572 ked
EBrS S = 7705  x 060 = 4623  ked
Rz 445 g 7K 1 22 BODs = 1572 + 140 = 1711 ked
[ZdsBE KRS S = 4623 + 140 = 4762 ked
S EE K & = 930 CMD
G P K 2 i = 46500 - 00 = 46500 md
[E]U F7K 2 BODs = 7858 - 1572 = 6286 kgd
[EUg K S S = 7705 - 4623 = 30.82 ko/d
[E]U FI7K 2 BODs 3L fEE = 628 X 1000 / 46500 = 135 mglL
[ 7K S STERE = 3082 X 1000/ 46500 = 6.6 mglL
() fOBREI KR E AT = 46500 md
[E]U FH7K BOD 44 & = 46500 x 150 /1000 = 69.75 ked
[EUFEIKS S 4 = 46500 x 150 /1000 = 69.75 ke
R RO & = 86851.8 - 46500 - 930 = 821088 md
g R HE UK 2 BODs R = 169 mglL
BRIERHEBUOK ZS S B = 166 mglL
JE PR HEK 2 BODs = 821088 x 169 /1000 = 1387.53 keg/d
JEEERHERUK S S = 821088 x 166/ 1000 = 136046 ke/d
() 75 e MEETT
1 #ERERKE
OBED L IIE PASE Tie- = 33 i

WU + =005 + g K
1003.3  + 11483 + 33.1
= 21846 mwid

Q) BFRREMZE

ETRREMZS S = YHUSR + “IUSR
= 10083.33 + 11540.09
= 21623.42 keg/d

E5 IR &2 BODs = U + IUSR

483755 +  0.00
4837.55 ke/d

%07 =13F A3 2R T (2 8 Qpeak)



2 EE

(1) BERLGE5IESSEER = 9% = 09
SR YE T IEBODs[E IR = 9% = 09
ELETSIESS = 2162342 x 09 = 19461.08 kg/d
BRI R = 19461.08 /(005 x 102 x 1000 )= 3816 m3Md
JE4E5)EBODS = 483755 x 09 = 435379 keg/d
EIDESEE| AN 1 VA S ) =4 = 21846 - 3816 = 18030 m3d
PR EHE KK S S = 2162342 - 19461.08 = 2161.34 keg/d
LR E P KK A2 BODs = 483755 - 435379 = 48275 keg/d

(2) EFEPolymer /K & = 331 A
EAE RO AR EEE = 3264 M
[E] s FH 7K BOD 44 & = 3264 x 150 /1000 = 490 ked
[ElUFZKS S 485 = 3264 x 150 /1000 = 490 ked
BRI EHKHACE: = 18030 + 100+ 3264 = 21394 m’d
LR E B KHZK A 2 BODs = 48275 + 000 + 490 = 48765 ked
R B BEK 7K 2 SS = 216134 + 000 + 490 = 216624 ked
PR EHKH/K 2 BODSEE = 48765 x 1000/ 21394 = 2279 mglL
LR E PKHK > SSIEFE = 216624 x 1000/ 21394 = 10125 mg/L

ON) BREHEA
) #REFKE
EREH B REE BETE = 3816 mld

ZFRREHEAEZS S = 19461.08 ke/d
ZRECH{EA 2 BODs = 435379 ke/d
Q) &
VSIS = 0.70
JSIEVS = 070 x 19461.08 = 13622.75 keg/day
SSYEES = 030 x 19461.08 = 583832 ke/day
SR H VS DZRVSDR S = 4000 % = 040
HIVSIE/DE = 1362275 x 040 = 5449.10 kg/day
SHEIISIEVS = 1362275 - 5449.10 = 8173.65 kg/day

JHERITIJETS = 8173.65 + 583832 = 14011.98 kg/day

AETEISIEVS = 8173.65 / 1401198 = 5833 %
SRELHTEEER = 090 mYkeliZ) 2V (0.75~1.12m kg M&E)
BIOGASE4A®E = 54491 x 09 = 49042 kg/day

APHERITJEREQ = 3816 m3/d
JHE1275JEBODs = 43538 X 0.4

1741.5  kg/day

(t) /5l K%
1 ERERKE
329/ DA D) [E¥)in=<A = 3816 m3d
5 ESSE = 1401198 keg/d
#E 75 EBODs &= = 174152 keg/d
2 EE
(1) s EHSE e = 90% = 090
/K35 EBODS AU % = 9% = 090
J5 B E = 1401198 x 090 = 12610.78 kg/d
FR7K1& 2 5 e R = 2% = 020
J5edfthE = 107
Hi= = 12610.78 /X 0.2 x 107 x 1000 )= 589 md

%67 =13F A3 2R T (2 8 Qpeak)



Fi 7K AR R AL = = 3816 - 589 = 3227 m3d
At /K353 EBODs = 174152 x 09 = 156736 keg/d
R EHE KK S S = 1401198 - 12610.78 = 140020 kg/d
AR EHE KK A2 BODs = 174152 - 156736 = 173.15 kg/d
(2) BEEEEAR UK & = 5616 md
[E]U5 FI 7K BOD 48 & = 516 x 150 /1000 = 842 ked
[EULFHZKS S 48 = 516 x 150 / 1000 = 842 ked
s MifEPolymer 7K & = 535 wid
SSRBUKEIPKHKEERE = 3227 + 5616+ 535 = 9378 md
LR EHEK K2 BOD; = 17315 + 842 + 000 = 18158 ked
AR EHE KK 2 SS = 140020 + 842 + 000 = 1408.62 ke/d
PR EHKHKE 2 BODsEE = 1816 x 1000 /938 = 1936 mgl
LR B KK > SSIEFE = 14086 x 1000/ 938 = 15020 mg/L
= FE—XEIEEE (#)
vy B AR (B )
A FB=XEIEETE (B)
AN, FBUIKEIESE (#)
t. FBAKXEIEE
(— ) FEEE
1 J5K&E
LELE! B E B HE
FrEPH S 46,500 _CMD 1.00
SERAXHITE 65,100 _CMD 1.40
FERAM TS 86,000 CMD 185
2 J5KE
KEIEH B TAAE BORAAKE R
BOD s 180 mg/L 20 mg/L
SS 180  mg/L 20 mg/L
3 BEFEETABE
JR P T BOD; SS
BRI 0% 0%
IEIh o 30% 53%
YR ERE R D 87% 84%
PUgEfE 20% 60%
4 DEEREEYIEE
HHE TRFE tbEE
WhRs A 2 1.500
G U 2 5 e A 150% = 002 1.010
T i) 53 1.00% = 0010 1.005
DIl ey =353 300% = 003 0.950
BAER 2 TT R 500% = 005 1.020
B7Ki& 2 75 e 2000% = 020 1.070
5 [EgEAE
SE b 10 mYd
5B E S 10 myd
R 150  m’Ad
ZROUBA AT 10 mwAd
ST e G e AT ) 326 mid
S5 ERR K G e F) 562 m’id
H At [a[Ug /K& 3582w
T *13F &3 R T (2 8 Qpeak)
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|zt | 4650
XA E
5 e EEPolymer ) 33 m'd
75 JER K (FiEPolymer FH) 54 m’d
HoAth 30 m'd
=% 117 m'Ad
Heras e [EEREs T B AT AE
(=) bt
R ENKE
J[5757KBOD; = 86000.0 x 180 / 1000 = 15480.0 ke/d
JE757KS S = 86000.0 x 180 / 1000 = 15480.0 ke/d
& e FH KK
BOD;s & = 13.5  mg/lL
SS BRE = 67 mg/L
AEEHK
EEHKE = 100 md
BOD;s & = 13.5  mg/lL
SS BRE = 67 mg/L
BOD;s 48 & = 10 X 13.5 / 1000 = 0.14  ke/d
SS 4% = 10 X 6.7 / 1000 = 0.07  ke/d
AR B HE KK 2 K 7K &
T BODs SS
(CMD) (kg/day) (kg/day)
PSSR EEEK 93.0 16.95 47.07
TR R K 1810.2 488.41 2175.83
TR KARHEK 939.6 181.18 1411.93
“F 2842.8 686.54 3634.83
RIHE AR b 2 i & = 860000 + 10.0 + 28428 = 88852.8 m/d
BODs 44 & = 154800 + 0.14 +  686.5 = 16166.68 kg/d
SS &&= = 154800 + 0.07 + 36348 = 1911490 kg/d
BODsEfE = 16166.68 x 1000 / 888528 = 1819 mg/L
SSEE = 19114.90 x 1000 / 888528 = 2151 mg/L
FE
BRI BBREE Ry
BOD;s = 0% = 0.00
SS = 0% = 0.00
Zkx2 BODs = 16166.68 x 0 = 0 ke/d
L2 SS = 1911490 x 0 = 0.00  keg/d
TSI A K 2 R = 88852.8 - 0.5 = 88852.3 m3/d
TESICED A 7K 2 BODs = 16166.68 - 0 = 16166.68 kg/d
TSI K2 S S = 1911490 - 0.00 = 1911490 kg/d
BODsR[E = 16166.68 1000 /[ 888523 = 1819 mg/L
SSEE = 19114.90 1000 / 888523 = 2151 mg/L
Gk b = 001  m¥1000m’
WOREER fir = 1500 kg/m’
WORERSRR = 46500.0 x 0.01 / 1000 = 0.5 mAd
WhiskEE & = 0.5 X 1500 = 606975 ked
¥8F =13F A3 3§ T R 3 3 Qpeak)



(2) VPR
1 e KA

iU EaZp T &) ) T % = 888523 m'd

BODs = 16166.68 kg/d
SS = 1911490 kg/d
2 EE
(1) BRI RE  ERR
BODs = 30% = 0.30
SS =  53% = 0.53
Zkr2 BODs = 16166.68 x 0.30 = 4850.00 kg/d
FEkrZ S S = 1911490 x 0.53 = 1013090 kg/d
O|RICE R E = 1013090 keg/d
EUDIPED e = 1013090 K 0.02 X 1.01 X 1000 )= 668.7 mAd
Q) BOFERE = 3% = 003
FELLE = 0.950
REE R = 8 kg/1000m® = 0.008  kg/m’
RN &S = 0.008 x 888523 = 710.82 kg/day
FERE = 71082 [ 0.03 X 0.95 X 1000 )= 249 m3d
FIot A H 2 [aU K& = 10 m’d
BOD;s & = 135 mglL
SS BRE = 67 mg/L
BOD;s 48 & = 10 X 13.5 / 1000 = 0.1 ke/d
SS 4 = 10 X 6.7 / 1000 = 0.1 ke/d
A= = 100 + 24.9 = 34.9 m3/d
VFAE S S 71082  + 0.07 710.89  keg/d
$2BODS5 = 000  + 014 = 014 ked
DI HARK R = = 888523 -  668.7 24.9 = 881587 m’d
WA 2 7K BODs = 16166.68 4850.00 = 11316.67 kg/d
WA HR7K S S = 19114.90 - 1013090 = 8984.00 ke/d
HIE LR HR/KBODs/E = 11316.67 X 1000 [/ 8815877 = 1284 mg/L
YIS HURKS S S = 898400 x 1000/ 881587 = 1019 mglL
(V) Z&R YR (SRR 0
1 #ERERKE
() HEAKRE = 150 mud
BODs B = 135 mgl
SS EBE = 67  mg/L
BODs 44 = 150 X 13.5 / 1000 = 2025 ked
SS &&= = 150 X 6.7 / 1000 = 1.01 ke/d
(2) e 2 SR AR KB K E
TE BODs SS
(CMD) (kg/day) (kg/day)
ST A K 47.1 0.03 87.80
&t 47.1 0.03 87.80
(3) HUEA ZRAEYIRE R = = 881587 + 150.0 + 47.1 = 883558 m3/d
BOD;s = 11316.67 +  2.025 0.03 = 11318.73 kg/d
SS = 8984.00 + 1.01 + 8780 = 9072.81 kg/d
$9F £13F &3 R T (2 9 Qpeak)



BODs & = 1131873 x 1000 / 883558 = 12801 mglL

SS = 907281 x 1000 / 883558 = 1027 mglL
2 HE
(1) B 4R > R by

BOD;s = 8% = 087

SS = 8% = 084

2B~ BODs = 1131873 x 087 = 984729 kg/d

Ek>Z SS = 907281 x 084 = 7621.16 kgd
() BEESEEMGE:

MLVSS/MLSS{48; = 080

BODs/BOD {451 = 068

VSSTERE G = 142

S-BOD/T-BOD = 65%

A RAREY, = 0650 g-VSS/g-BOD

NEZER AR Ek = 0050 day’

FEFIHZEK, = 90.000 g/m’

ALAE R , = 2000 day"

ZIUSTERE = 8,000.0

S-BOD/T-BOD= = 0650

0. = 6.000

#7KBODsRE = 1281 mg/l(IKE B HEAER)

#7KS-BODs A = 833 mg/l

H7R K S-BODs EfE =K x(1+kyx® Ju,x0 .-(1+kyx0 )

= 10.9 mg/l

HiR /K BODS e = 168 mgl

Ban =2 =10 .+ky = 0217

PR = Y/(1+ kgx6 ) = 0.500

J§&22;5))EMLVSS(P,) =YxQx(S-S.) = 319552 kg/day

JE§ 285 EMLSS = 399440 kg/day

JEEZESS = 7621.16 kg/day

JBEEESIE = 399440 + 7621.16 = 11615.56 kg/day

ASER & = 1161556 /001 x 1005 x 1000 )= 11558 m3/d
Q) FERE = 3% = 003

FELLE = 095

s E = 2 ke/1000m® = 0002  ke/m’

JElIpERrR= = 0002 x 883558 = 17671 keg/day

TR = 17671 /003 x 095 x 1000 )=62 m3/d

ZIOUEBEFZ EULHKE = 100 m3d

BODs & = 135 mglL

SSEE = 6.7 mg/L

BOD; 44 & = 10 x 135 / 1000 = 014 ked

SS 4 = 10 x_ 67 /1000 = 007  ked

TR = 100 + 62 = 162 m3d

B S S = 17671 + 007 = 17678 kegd

SEEBODS = 000 + 014 = 014 ked

ETAEEN TN R = WRURE + ZIURA

= 349 + 162 = 5L mA

EIRE R IFEZS S = 71089 + 17678 = 887.66 kg/d

A A ) BODS T = 014+ 014 = 027  ked

BlaERIoy - ENES = 9% = 090

¥10F =137 A3 2R T (2 8 Qpeak)



SR ELEIRBODS[E R = 90% = 090
T TE = 88766 x 090 = 79890 keg/d
BRI % 2 RS = 20% = 020
TEERLLE = 1
=g = 79890 /A 02 @ x 1 x 1000 )= 40 mA
JER A 2t R R AL = = 511 - 40 = 471 m3d
JEE i 7 £ BODs = 027 x 090 = 024 ked
PR BRI S S = 88766 - 79890 = 8777 keg/d
LR AR YR B 2 BODs = 027 - 024 = 003 ked
D =—REYEE K R E = 883558 - 11558 - 62 = 871938 m’/d
ZEEYIERE H K BODs = 1131873 - 984729 = 147143 ke
ZERAYIEEMH K S S = 9072.81 - - 762116 = 145165 ke/d
TRAYEIEH K BODsEE = 147143 x 1000/ 871938 = 169  mglL
TIRAEYRBHIK S S = 145165 x 1000/ 871938 = 166 mg/L
() BRIERE (BB FHAKER)
1 #ERERKE
(1) PUErg#E R KKE = 46500 CMD
HeEAE 7 7K BODs = 4650 x 169 /1000 = 7847 ke/d
PUBMEERKS S = 4650 x 166 /1000 = 7742 ked
() B KE = 2% x EREEE
RIRZ A K & = 4650 x 2% = 9300 CMD
BODSEE = 135 mgl
S SEfE = 67 mg/L
RO 3k7KBODs# & = 9300 x 135 /1000 = 126 ked
FZdseKS S 488 = 9300 x 67 /1000 = 062 ked
2 EE
(1) BRI BEREFy -
BOD; = 2% = 020
SS = 60% = 060
Zk:22 BODs = 7847 x 020 = 1569 kgd
EBrSS = 7742  x_ 060 = 4645  kg/d
FZ 5 g 7K H 22 BODs = 15690 + 126 = 1695 ked
FZde g K22 S S = 4645 + 062 = 4707 ked
SRR K & = 930 CMD
B K2 & = 46500 - 00 = 46500 m3/d
[E|U 7K BODs = 7847 - 1569 = 6278 kg/d
EY K> S S = 7742 - 4645 = 3097  ke/d
[E]Us 7K 2 BODs 2 e = 6278 x 1000 / 46500 = 135 mglL
B K S STEE = 3097  x_ 1000/ 46500 = 6.7  mg/lL
Q) fIBRE AR & = 46500 m3/d
[ 7K BODs ¥ & = 46500 x 135 /1000 = 6278 ked
[EUHKS S 488 = 46500 x 6.7 /1000 = 3116  ked
HEPERHEBK TTE = 871938 - 46500 - 930 = 824508 m’id
EZERER K 2 BOD s JBIE = 169 mgl
B K ZS S BE = 166 mgl
i FR WG HERCK 2~ BODs = 824508 x 169 /1000 = 139139 ke/d
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| EE Rk S S 824508 x  16.6 /1000 = 1372.69 keg/d |

ON) TR RMEETT

1 #ERENKE

(OBEYD LI PASE Jie- = 33

Q) BEREENZRE WS + ZI058 + IngEr K
6687 + 11558 + 331
1857.5  m/d
EFRREREMZS S = 9GSk + =I5k
1013090 + 11615.56
2174645 kg/d

TIIUSRE + 005

485000 + 0.0
4850.00 ke/d

Z5eR &M ZB0Ds

2 BE
(1) BERLGE5IESSEER = 9% = 09
SRS EBODs IR = 9% = 0.9
JELETSIESS = 2174645 x 09 = 19571.81 keg/d
BESIRR R = 1957181 /005 x 102 x 1000 )= 3838 m3d
45 EBODS = 485000 x 090 = 436500 kg/d
PR EHE KK R 2 = 18575 - 3838 = 14738 m3d
PR EHE KK S S = 2174645 - 1957181 = 2173.65 keg/d
LR E B KK A 2 BODs = 485000 - 436500 = 48400 keg/d
(2) FEEPolymer /K& = 331 wd
TEAE R A AR 2 A% = 3264 md
(A1 F7KBODs ¥ &L = 3264 x 135 /1000 = 441 ked
Bl HIKS S 488 = 3264  x 67 /1000 = 219 ked
B TIRETT EHKHOMIEY = 14738+ 100+ 3264 = 18102 mA
R EHEK /KA BODs = 48400 + 000 + 441 = 48841 ked
AR EHE KK 2 SS = 217365 + 000 + 219 = 217583 ked
PR EHKK 2 BODsBRE = 48841 x 1000/ 18102 = 2698 mglL
R E B KK > SSHEE = 217583 x 1000/ 18102 = 12020 mg/L
() BREUH B
(1) #ERERKE
ERREH M Z R E(= A5 = 3838
ZRREVHEMZS S = 19571.81 ke/d
ZRREH{EA 2 BOD; = 4365.00 ke/d
(2 #HE
VSIS = 070
SIEVS = 070 x 19571.81 = 1370027 ke/day
SSIEFS = 030 x 1957181 = 5871.54 kg/day
SR B VSIED#RVSDRE = 4000 % = 040
HIVSE D& = 1370027 x 040 = 5480.11 kg/day

JHERIFIEVS = 13700.27 5480.11 = 8220.16 kg/day
JHERITIETS = 822016  + 5871.54 = 14091.70 ke/day

SSEESSIEVS = 822016/ 1409170 = 5833 %
SEHIEAR = 090 mkelf/b2V (0.75~1.12m kg, M&E)
BIOGASEA&E = 5480.11 X 0.9 = 493210 keg/day

APHE&I5EMEQ = 3838  m3d
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Jb%75JEBODs = 436500 x 0.4 = 1746.00 kg/day
V) 75ERR K i
1 #ERENKE
RS E = 3838 m3/d
ERSIESS = = 14091.70 keg/d
RS EBODs & = 1746.00 ke/d
2 FE
(1) EEEEE YR = 90% = 090
S 7K S5 EBODs[E[ U R = 9% = 090
SRR E = 14091.70 x 090 = 12682.53 keg/d
B7Kig 2 5 RrE = 2% = 020
SRR E = 107
TR E = 1268253 /(02 x 107 x 1000 )= 393 m’ad
A K 4 T A T = 3838 - 593 = 3245 m3d
A /K 5 JEBODs = 174600 x 0.9 = 157140 ke/d
TR EBEKHKA 2SS S = 14091.70 - 1268253 = 1408.17 keg/d
LR E BEKHZK A 2 BODs = 174600 - 157140 = 173.60 keg/d
() BB IEA R EUK & = 561.6 m¥d
[E] s FH 7K BOD 44 & = 5616 x 135 / 1000 = 758 ked
[E|YFZKS S 482 = 5616 x 6.7 /1000 = 376 ked
R FEPolymer /K &2 = 535  wd
STREUKEHKHOEE R = 3245+ 5616 + S35 = 9396 mAd
PR EHEK /KA BODs = 17360 + 758 + 000 = 181.18 ked
AR B BEKHAKCH 2SS = 1408.17 + 376 + 000 = 141193 ked
ERERKHKA ZBODSERE = 1812 x 1000 /940 = 1928 mg/L
R E B KK > SSIEEE = 14119 x_ 1000/ 940 = 1502.6 mg/L
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